19 12
18
7
18
12
18 6.6%
2.4%
18 17

A 116,888 109,653 7,235 6.6
B 107,055 104,576 2,479 2.4
C=A-B 9,833 5,077 4,756 93.7
D 348 267
E=C-D 9,485 4,810 4,675 97.2
Fe ) 4,675 808
G 2,463 2,764 301 10.9
H 0 0
1 0 0

=F+G+1-H 7,138 3,572

6.5%
6.8%

18 17
41,004 35.1 37,110 33.8 3,894 10.5
1,644 1.4 1,657 1.5 13 .8
8,308 7.1 7,918 7.2 390 4.9
2,372 2.0 2,809 2.6 437 15.6
24,889 21.3 23,945 21.8 944 3.9
2,105 1.8 1,962 1.8 143 7.3
80,322 68.7 75,401 68.8 4,921 6.5
1,269 1.1 1,298 1.2 29 2.2
3,791 3.3 4,101 3.7 310 7.6
15,378 13.1 14,990 13.7 388 2.6
5,721 4.9 5,193 4.7 528 10.2
1,544 1.3 1,109 1.0 435 39.2
71 0.1 44 0.0 27 61.4
2,397 2.0 2,547 2.3 150 5.9
1,240 1.1 247 0.2 993 402.0
5,078 4.3 4,606 4.2 472 10.2
77 0.1 118 0.1 41 34.7
36,566 31.3 34,252 31.2 2,314 6.8
116,888 | 100 109,653 | 100 7,235 6.6




M

1.6%

4.3%

@

6.3%

26.6%

0.9%
0.1%
21.0%
(234.6%)
1.4%
52.4%
1.3%
4.0%)
0.1%
3.00%
0.8%
21.3%
20.9%

18 17
57,505 53.7 58,445 55.9 940 1.6
28,332 26.5 28,085 26.9 247 0.9
24,747 23.1 24,760 23.7 13 0.1
4,426 4.1 5,600 5.3 1,174 21.0
10,109 9.4 6,633 6.3 3,476 52.4
4,855 4.5 1,451 1.4 3,404 234.6
5,254 4.9 5,182 4.9 72 1.4
39,441 36.9 39,498 37.8 57 0.1
16,734 15.6 16,515 15.8 219 1.3
1,725 1.6 1,695 1.6 30 1.8
5,085 4.8 5,148 4.9 63 1.2
5,101 4.8 5,312 5.1 211 4.0

0 0.0 0 0.0

1,184 1.1 1,612 1.6 428 26.6
9,612 9.0 9,216 8.8 396 4.3
107,055| 100 104,576 | 100 2,479 2.4

18 17
670 0.6 682 0.7 12 1.8
15,919 14.9 15,450 14.8 469 3.0
45,397 42.4 45,025 43.0 372 0.8
12,873 12.0 12,857 12.3 16 0.1
481 0.5 499 0.5 18 3.6
1,762 1.6 1,766 1.7 4 0.2
7,340 6.9 7,832 7.5 492 6.3
853 0.8 572 0.5 281 49.1
17,330 16.2 14,290 13.7 3,040 21.3
4,430 4.1 5,603 5.3 1,173 20.9
107,055| 100 104,576 | 100 2,479 2.4




5.7%
97.2%)
18 17
9,485 4,810 4,675
77,206 73,023 4,183
12.3 6.6 5.7
0.3%
6.5
23 6 11
18 17
60,046 60,198 152
80,722 75,810 4,912
80,722 75,810 4,912
74.4 79.4 5.0
74.4 79.4 5.0
4.7%

20.

9%)

18 17
4,426 5,593 1,167
77,206 73,023 4,183
5,551 6,050 499
82,757 79,073 3,684
5.3 7.1 1.8
o
6
o
17
17 18 18 C 18 D=A+B-C
31,848 1,240 3,648 29,440
o
17
17 18 18 C 18 D=A+B-C
40,360 5,101 35 45,426




